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Code No. SY 26
SncoNn Ynan Monnr Ex.q,NrrNATroN - FnnnuARy- 2018

PART.III
EcoNovucs

Maximum:80 Scores Time : 2 r,rttrs

Cool offtime : 15 Minutes

Answer all questons from 1 to QNo 14

The consumer prefer the bundle which has
more of at least one of the good and no
less of the other good as compared to the
other bundle, consumer preference is

a. Indifference preference

b. Monotonic preference

c. Both indifferent and monotonic
preference

d. No of the above

Score I

2. Micro Economics is also known in

b. Demand Theory

d. Cost Theory

Score I

3. Frorn the following Find the open
Economy multiplier.

a' I b. c .. 1 d.-c
l-C l-C l-C+m l-C

Score I

I a;<ooE 14 oloo .4Hc crlcc5e6B0aao;o
g(onDoo0t9](0)la,.

poJeeoacocoi oeneg eruene'let]o,gloE 
"$(o)Jenreneler'lcnceemc ocg euenelet;ocoofl

{ocotooJo odgJccrucoE "6o<oe,1ejlo 6JoJ

mrcomororloop ao; oclo'roooolet;o a;s;<ooE
gggo)lo 0cg mtccumoto>leiofl Grdgoi
e,;oooc<o1o1€oJa,oo;Jo o"_tgScmoi GrO

enLeneleiloi o;odoemcn cno8a,;cmoflocn,

"9. cnlcpooocoot a;odoemcn

enil. ooarocm ocoot o;odoemcn

m1. cn1 gocn oJ o oglatoccDolSocao o;o0cnemm

or.r'1. porocrm;o1g rnico,c6 t

m:;a,u"om'lccuorofl o,cocmt"g<oo oogcol
c"ro1 er;o <orocrl ooto gs; cm;. <o'roai

n0.ojleJm,:'lallcooo enjl.calcornmr'laoccroro

mi. oo;ocm ml'laucooo or:1. o"_retol m.lleucnno

ntjce,cd r

(oco 9o6c s3 oro'ro ooi o6 cril fiDJ o (Dl o aD m:cnrri
O{OlaunC oJ6rDa,o 6ro5rEtoro)Ja).

)
the name of
a. Price Theory

c. Income Theory

u. I

1-C

b.c ..1 d.
_C

l-C+m l-C
n$cacr6 r

1-C

. There is 'Cool offtime' of 15 minutes to the writing time.

: i1h 
questions and to plan answers.

rng.. questions as instructed.. be shown in the answer sheet itself.. Malayalam version olthe questions is also provided.
. Give equations u'herer.er tlecessary.

' Electronic devices except non programmable calculators are not allowed in the Examination Hall.
oioscdon'la,udn)gp a"L c a; o'kdegaaoxrd :

' crndql.ds mocorororloi or:ooo rs olcrn$ 'ogua oc..d oelso' geneccoiko'lao;o.

' 'elua oc"-d ooso' caco5eenud 
"-ro1o:ooogscoJo gcyD@66Bud ropmt;io,emo o.Jgcolo g.jccoccdlaetJa,.. groo oeanud ngo; orJ cm oil cd o2 ml c"_rco3eonu6 lrnr:oc "jg6qo olcaordo dfiro.

' .o8dc ojlieccnomfletJo cnldcgoolaoogS "oepo c"-rcaseoBoadd oct(o)ca ooro(oo ooglc(D6rB(o)Jggl.. a,5mad a,;5et;aod, 
"jlLoreonuE, 

gcoc.n;a<.rd, 
"OCrD'lol 

poro-roco-rgcilod ororm gerreccojlolaoemo.. corca5 eoaoE oet corc goroilo;o cnoEa,l coi 53 eni.
. GrOoJ@JoJgg mmetoroi mtooca,5onu0 oacsl€o6rDo.
' Gtolc(oco;a,od o"Jgccnc&coro a,coEaogcergo;a<rd acloa,coJep atoJ petdclscernld potaoemor;o
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4. Identify the demand curve of a monopoly
firm

4. aJ oIo6J g ei.,loncn o3orn;] g'l oo$ e.o.JCO (r) 4Jteo
oflolgciloor;a.

Score 4xl =4

c.b.a.

5. Match the coloumns A and B

Score l

5. coJcgo "O @lo 6nil(o)Jo 6nJmDoHSJotoJa

HSE 2.ECON

when tr: r max speculative
demand for
money become , >1

The elasticity of demand curve
under perfect competition I

The value of marginal propensity
to consume when marginal
propensity to save is equal to
zero

Infinitv

When norninals GDP is
Greater than Real GDP,
GDP deflator become 0

r: i max oqoemeloE

P/lDa..o€OgoJS GaICBCDo >1

ao; oruosdcm 6,1s ool.uo
acmtcAoroiloe-r

c 
"-r 

co5 coorloofl p etcmirorleor 1

m-11 ocoo crDfixccJ LoJol6rD(D

oJJ BJ aCO5rDs},'l oE m;1 ocoot
pclJcec{/) LoJoJ6TDoe)JoS oJelJo Infinity

cDcoacLo GDP co;;os

oorLocdroro GDP ecoaocua

e,3S3O)etCOeme,lOE

GDP od.dcggdl olego 0

ty



6. Observe the diagram
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6. coo-rc"jllo'ro crrl olaM ao;e,.

Good 1

The initial budget line is AB State the

reasons for the changes in the Budget line

show-n belou'.

a. From AB to A1 81

b. From AB to AB2

7. Catagorise the following features of
market structtre into appropriate heads.

a. Diflerentiated Products

b. Longrun Price -- MC

c. Price Takers

d. Homogeneous Products

e. Longrun Price > MC

f. Some Pricing Power

Complete the equations

a. GNP : GDP +...............

b. .............. : NNP." + Net indirect Tax

c. Personal Disposable Income:

- ( Personal Tax

Payment * Non Personal Tax Payments)

d. Gross value added :
Gross Value

@olld cpoJooto eucde$ ooerod AII
crgerd "Oelcf, 

euode$ ooetcrjlos (Dcoe

oroao)J(m ocgrenc.rEaeilBts 6)C(05IDo

oOeJo)Jor.

"6. ABcofloS dlmd Al Bl celaoi

6nn. AB cefl(d crilmi AB2 cered

(Score 2)

{DCOP OarCSJOlo o,Gfiucg5sBe}os m)rccol'

cn:oilccocsio)a,og gojl<oraccol alaoeo$
m ola,'l otd g;14, olaei;e,.

"O. PeY"-tcocn oileeacno

6nn. old"etacel oilel : MC

mr. oilel m::la6ololcol

orA. .,66,ecrot"laol geiucmecn<d

p. o16"eta,cel oilel > MC

"6;".d. e,Jo, oilel crAdeg;oo)cur6,coo

(Score 2)

o)colRooocs;onD m)ooJce5eonod

"136roroflolceoJa,.'

a. GNP = GDP + .............'...........

b. . ............. =NMFC + Grd9olc@ca,ucrila;<o'il

c. o5ao'ila;ro oilcrjlocor ololoc<no i ....,;...............

- ( o5aoIlcoocrrl a,;ol1a,d + o5ao'itn or

cril a; ol1 ccol to'l o <ori s o3 a, <rE )

d. ooc(oloo a,351cg6oto olaJo =

' ooconDole{o - (score 2)

7.

o
8.

al
ooo



HSSLiVE.IN HSSLiVE.IN HSSLIVE.IN HSSLiVE.IN HSSLiVE.!N

9. If K:11, GDP Deflator (Price level): 1.5,
Real GDP (y): 1000 crores

a. Write the Equation of Transaction
demand for money

b. Calculate the value of it.

10. Classify the following into stock and flow

i. National Income

ii. Changes in inventories

iii. Captital

iv. Money Supply

v. Capital formation

vi. Income of house hold

11. A hypothetical Aggragate Damad function
is given below.

When marginal propensity to consume (c)
increased to 0.80, show diagramatically the
Changes in equilibrium income.

12. Find out the equation for

a. Cdr.

b. rdr

c. Money Multiplier
d. Transaction demand for money

(CUIDD, I + cdr R/DD, K.T)
cdr + rdr,

s. K:tl* po GDP a-rno.d'cgg6
(ojlacrfletoccoo) = 1.5 go aotLncd<oro

GDP (y): 1000 crores
tooo ea,cs'lqo;ocoeme,1oE,

"{I). "lemooiloofl OooJocgcLoloaJo
a,cem;cmcril{DltsB {rDoolcaJo
oOeJo.t]al.

6nn. GrooJolcao)cui1gi uem<orofloefl

OOAIOC$ GLoJOOT GolCBff)o

arO61113OrDl€r. (Score 2)
(OCOg OOTCSJ(6Io)OJOa0) G(OOIOOO(rDJo

LoJorcoooafiDJo eod<olologeJ(o)]ar

i eoco1aolor@loc<no

ii poEoooflcrlaoioe.r ocgo

iii oJeiocno

iv. or6rDlolocff)o

V AJEJ(I)ff) ffDl@Jol6IDo

vi a,JsJodru oJoloc<no (Score 2)

11. ao; mcoo66[la oo]c(oro G^rcB(D cu6mo
<o)coeei6eicsSrorofl o1ao;rm;.

o lncome

mt"locro goJGccoLoloJo6TDo) o.ao orqoo.fl

odru-:14coE auo(oJeilo> oo;ocm<oro.fl
elJ6rrEc6,Jm) ocgo c@olco-flc<o<orof o6

ecernlao;a. (Score 2)

12. o)coeo€ocs;ororocoieei' cmcnlcaoceJoccu
m) ooJceJ66B<rd e,oeneoror3e,.

a. Cdr.

b. rdr

C. ol6YD(f)J5ID6,o

d 
"-rem<oro'jloofl 

ooe,ocg cLol(oaio

(CU/DD, 1 + cdr R/DD, K.T)

HSE 2 -ECONOMICS.4 /IO

cdr + rdr,
(Score 2)
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13. Distinguish the concepts qf Ex ante and
Ex Post

ls. <or9mg6oi1<oo;o (Ex ante) oorLocdotnorl

@x Post) ocoo oJe{66Bog
eo6<orlolgcilco;;e

o

a. Shade the portion of abnormal profit in
the above diagram

Write any Six Questions from e.No 15 to 21,
Each carry 3 Score.

15. Calagorise the following under suitable
titles.

a. All economic activities in the economv
organised by individuals through market

b. Central authorin.plans to Allocate
Resources.

c. Allocation of resources in the economv
decided by market mechanism

d, Government take decisions regarding
the important economic activiiies in an
economy

Q Quantity

o6. ocnrlol€6il(m ctl)aoL(,)oto.rloE raro<o,la
erce<orcioorfl Gcaro Gogjftd oolcrjail
GrosaocgoHsJorola,.

(Score 2)
rs o;rooi 21 cuoo c"_rce5e6Bgloa nr,lrmgo e
eolcn5eancrdaei gonDooot9](,|;a. e acaaei or"koo

ls orcouoacs;rorlloleo;cm otcaJdoBog
gojkooccor <oeroao$ moEa,i o6r41ao1ao3a

o0. o0)gc mtccu<oroib, lorotdo.ncnoangJo
o5aollaod a ccn:ctsoror.loo8
rsroslffunccn<oonoE it.2.r&*,1*..

eoil. oil re ot ean g; o s oil crfl e oor c o o otolaei; cr1 1i
calrnm:alcril GnOm)JL@6rDo ool gJCmJ.

mr. mmrr5oSom:noofloE

aocoo<oro€oJoli

ol'1. 1o-.r cu c cn mt c cu corojl a 1oj ot 6 olol cn euB o g 6et3 cil g

d
c16' o
G

0
0
<)
?

P

eJC@)(O)JOS GoJC6mo

a

cB

16. I+io
oq)
Lr

oo

(ruoOCADe(OlOCOS oJC()C)JOS
o)cogo€ocs; roro.r oc gesBoa

Quantity of demanded of Tea
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a.

b.

c.

Price of Coffee increases

Income of the consumer decreases

Price oftea decreases

Total Fixed Cost is Rs. 10

Quantity SMC TVC TC AC

0

1

aL

1J

4

5

6

50

30

20

30

50

80

Find TVC, TC and AC and Complete the table

18. The RBI Changes its monetory policy
instruments as follows.

a. Reduction Cash Reserve Ratio (CRR)
b. Increase statutory Liquidity Ratio (SLR)
c. Increase Bank rate.

Explain the effect of these policy charges

on Money supply and Aggregate Demand

q

The diagram shows the equilibrium of the mo-
nopolist in terms of the total curves

a. Explain Break even point and mark it
on the diagram

b. Show the maximum proflt level of
output in the diagram

"6. a,cgfl co>.;oS; rfiilel odru1eei;cm;.

enil. g 
"rcrecetoecfl 

oerfl or co;orccno 6iloao)J cml.

mr'I. "icqo(oJos' Oilel arJoao)J(ml.

orDcGItDo runlogiletoi oJor 10

TVC, oor;o TC col;o AC oo;3o aoerre(do'l cr.l516,

org6roD)lco,)ceoge,.

18.RBI colJos oJ6rDoaooro'jlo8 o)coe oloaoJ(m

ocgean<6 oo;oro'il.

"9. a,O;O'rOE (l)mCmJrl.rC(,)o a,JO4l
enfl . criloo.roccDJm5o LBoror conoJolco)o

("OnU 
"Opn oO<a) odeolg|4.

mfl. eucd criloeei odrzr.:lg|4.
oI6IDLoIBC(r)O|O'1 er]o OOCORDo GeICBC)

orcr1er;o prD ocg@BnE oro;oro'rloD Gnd(T)oo@

.rn etan:uA ojl coala o1aerla.

q2

Output

Oocoro) oloJoc{r) OolelolJol[e,60Bg]os
oros'l mmccn@to'n <oE 6,JottDe aloot; eil olcor fiun
a,cerrilaer;cm coorc"jllroo osagiloE
o a, c s; oroil o1 €o 

J 
(ml.

"{). cgeruaei p,]Dolod c"-lccoofl" 
"6;crocoemcrd

oil soo1a,ro'l6ola aol o "jl 
g<o orol1oE

r6ros<)cgodsJt0lo)]aJo)Jo o4JqJa,.
6nil. "6lSo3o a,]s]oroE eJceo ere'l€oJm

g ei 
"-r 

cm cril er 
"6 

o nrr crd o-il t<o <oro'jl <f cril cni
erO6ll3{0lo]al.

17.

TR
TC

t9.

ql

DelolCIDo SMC TVC TC AC

0

I

"2

a
J

4

5

6

50

30

20

30

50

80
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20. The value of GDP at Currentprice in20l6
is Rs. 5000 crores. The dame GDP evalu-
ated at the price of the year 2010 is
Rs.4000 crores. Using this data

a. Calculate the GDP Deflator

b. Comment on the changes in the
price levei

Explain the components of Aggregate
demand in a two sector model economy

Answer any 4 questions from Q.No 22 to 27
Each Questions carry 5 Score.

22. Suppose a consumer wants to consume
two goods. The price of Good 1 is Rs.

10, Price of Good 2 is Rs.5 and the

consumer income is Rs. 30, then

a. Write the budget sets.

b. From the budget set which bundles -

Cost exactly Rs.30

c. Derive the Budget Line equation.

23. 'Perfect Competition is a myth and not a

reality'Do you agree with this argument?
Substantiate your answer by analysing the
features of perfect competition

24 The Price and Revenue Schedule of a
monopoly firm is below.

a. Complete the Table

b. Draw AR and MR Curve

<ocmcenE oiler lorecoo 2016 oer GDP corlos

oJerJo 5000 ca,csl o3"laocani. 
"gcmcoE

ronc(o GDP 2010 eie.i oileraua p"-rcooccnlg]
a, emao caol cot c gc cd +ooo ca, c sl o;.r-rco., cerd
errel.qoi. pc rlolo5sBglos
sros'lmrnccn<ooflCIa.

"111. 
olI"-deggrd a,GID€oc€oJ6.

eoil. oilercn'l ero.rcooroiloer ocg6cBog
olaoonoSoro>3a.

6J@l r:fl coerac mrmLri or5ormmaofl oE

OOC rr.r ror, e or cB G) o cn1 6 ep oo;1 eoJ cm roll oo3 gg
oersaeoBc/a olcoa l-,.i]..sl.s (6x3 =18)

zz a;rooE 27 cuoco<>]ag crrcoJeongloE
cnlcm;o a "6q;omflcri g<oooooelolla,. s

ocdeolor'l<oro

6JCol g"lCreca<ocoi oerrE" m)ccDcnesBUa
orcesBcoa rorgl<n.,o1ao3cm;. GDBJoolo)
mrccumooflcri (Good I ) ro @Joroo)Jo

@5TBooooro> mrcocnooloi (Good 2 ) s

@loleoJoc6rD- o1er. gorGeca(o)cor'locf,
ol@Jac(Do 30 @lolo)coemu'loE

"O. 6rxBg ocru$ "Ou]o]e,.
6nil. pnc erue$ oaugloE crrlcm;o oSeSooO

oroJacoorlo golcaocailg] ocoBBcca
e,olcorcor;cm euerrel er3a,o6
al6)6IBOrOJA,.

mr. 6nlB9 ooeroa cr)aorcaJo ooeJ(')Je.

' m-:mr36ogg e,lsooruooacmrd 6JoJ ecorm
co)c6T; aocLocdoro5og' pc omre11"-rccor

corolcd cnlocr:<6 ccorc*1ao;cmJcdrcc ?

crucru;depg e,'lsooruooofi oofl mrrrecoL

m,:oil csonsaoaog oil cne,ercDo od ao)<ol

oe,conE cnlong;os goro@ooro)
mrccu3a,o'lao3a,.

no] 6,lolo)ai arccxcg g ei"lcr:m oo]6rrr g'looe
oilerco;o oltoJocmor;o e,cernlao;cm .,r51e
(oco9 oe,csSolo'i1o1doJCml.

"O. d5le, 
"r36orc;"le,o16o;mJ.

dDn. AR ollaollo MR orlaoJo or<o6oJe,

Score 5

?1.

22.

Quantity Price TR AR MR
0 20
1 t9
2 18

J t7
4 t6
5 15
6 t4
1 13

8 t2
9 11

10 10

HSE 2.ECONOMICS. 7 /10
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25. Some macro economic variables are

given below.

Item

2s. "jler mm;a mtcrruotoila 
"-LoesBUa 

(Dcop
o6)csJ€olcm)

COlnl

ca,cslooloE

coraoiocrn o"-reroi

oroool o g"rcrecoel"r er oi

crrlce,sl"t o"-ieroi

e,o;g3ocl1

poao;ao'r'l

<n oren0ooo!" o"r ero;a oE

oilcocooror;nflcrDJgg
Grogo€lsaCx@JoCmo

r6n g oJ G oC6,9j nl1 4,3 Oil

clg. o"rerol o"lo'r1 go-recocoflgoaceni GDPM'
ar6rD6OC6OJa).

6nil. coro"laocrJ@]ocff)o 6,6rD€oc€olar. Nra)

26. ecDl. .O(rri. "6. eeceilodg)J(m oucel aoJ
EqooJCIA .,-tcocncen5. cnc5fl caed
oro;emrc<rE (ocoe oroao;CD m)cq-lcneoBoa

ocecB;cm<oilo5 orocqooo to1o;occrr1 g3.
rsotoild poo5cofler3o eol."Ocn5. oo.O ello
GrO m)coo66BgJos oiler ococoo5o
o"-tgcoE GrocQ(.roo gcqoo1eo]rmJ.

oileaco oilcriloqo) criloaei

ao; ccucAd : Rs 50

<orcrriloleer;cm oDcom5cBgSos oilet
roo@rDoJo o"-t g;cmo'ilcti 

"sicB'lo(o)
m: rto c qo'l €o3 cm m: cmt roro'r1 e, rorg co ool eooi ?

onO)1oofl cDoorca,Jo ooglcoJar.

gqo olcm] mrcocneunoE o6o)3
roc*JoroJcD'lcni orcoanscmrcEceni .sdcsldd
a;s;<ooE elceo ere'l€o]6r.

(Score 5)

Rs.

(in crores)

Depreciation

Final Consumption

Expenditure

Investment Expenditure

Export

Import

Government Expendifure

Net Factor Income from Aborad

Net Indirect Tax

200

2400

1750

430

450

1000

600

200

200

2400

1750

430

450

1000

600

200

a. Calculate GDPI* by using expenditure
method.

b. Calculate National Income (NNPrct

26.Mr Shaji is a non resident Indian Working
in USA. He decided to purchase the fol-
lowing items when he return to India. He '

want to compare the prices of commodities
in USA and India.

Item Price in
India (Rs)

Shirt

Lapton

Leather
Bag

When Exchange Rate is

One dollar : Rs 50

a. Which Economic Concept will Mr.Shaji
use to compare the prices. Write the
equation.

b. From which country puchasing these

commodities will be more profitable
for Mr.Shaji

500

30000

2s00

"0)

20

s00

50

HSE2-ECONOMICS-8 iIO
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17"'1he agi;reg;r.te eq''rilibriLrr;r in ir sirnple

ecoflolrt-v is given trelorv in a,'liapr;url

I)i agramatically explain the fbllowing
changes on the equilibrium incorne.

a. Governrnent increase the Revenue

expenditure

h. Government inerease the Lump:Sum
Tax

Writc an,v tr,vo Questions fnomr Q ftltJ I$t

to 30. [aeh Question Carn5'8 ntile'ks

2li.

a" Explain the concept of lritl'ket o'c1r'li-

trihrir,lrn vuitir frx*d number,;f ilrrns

I

li.C raphi caliy pro.i* hc'rv the equii I i lrr i ut n

rnai ntain under pert"ect tr,olllpt'rt ition

c. Shorv any five changes in the equi-

litx'ium price and Qtlarltitv it'ilh tht-

help o['tliagratns.

27. tr.*inti5 nt3o:erurtilalFi oo3(jYfio
or: r"nn ; ejl(ol,; ()- ! ( ? r-i-rl G (} 6Ll D a j i LO') 40i6fi (a, &

iormfldlarl;irni

oiil. ero; nr-rou;ttq a'f,lsmron:o laii
.&iB(TLIOE) cruo((il] ajlil$ Jcil(nl
'$ro),1T)6)(0l66Ilir)olb"!(u(n; coalc"-illrn(l'm'16)tE
i r-rj rr fl r.r 1l) G rJfO I ol e Ol trf: 91 AU1 c9O j t 6>'

2

nril. c ost-t c r-L1 lor olo^l el c{ ml) a$ e ($J G (Tlo c$ 5

rrl ool afl o> nL1 el coil e-t; o rsa 91 ru1 zu1 a; aYEcd+'J flT)

n4i]OrrislelSo S raOporrA.rd asOam'loeiSa

Income

ffI)af)3C0lGtT'!O) $9
cqoenird irar

ft"r, "r.lc*o ftl'le)"i

,{0. cnn-tenf,eta,{" oruffiJl 6'io"JAif}JJ6:ud

i:t'ied1r-[]c];

,;nr].,-r, oren-tcrocfl* 61f; colooi6-l',] nfl *,1 o-r1

otrilar:iq1r4;. 
4x5,.,10

G,:J3(!.\o Lt);T)ld zA olroroS 30 OjflO(]rDlgg

e r l l rlJ 5613 Qlcr& r-l'l on1 o 2 (lii] mo n{Dsi'in}i*,.

a ,lDrda,n .u"I())o

28.

"$ mudirao n$)ffir: pr:,1,ler:maolSornlg;aruii gggl

6-]iDl "tr,CinrlgCOrO/l 
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29. A law says that if u,e keep increasing the

employment of a factor input, other inputs

fixed, the marginal product initially rises,

after reaching a certain level of employ-

ment of input, it starts falling.

a. Identifli the Lar^' 1

b. Diagramatically explain the Law by

using Total Product Curve, Average

Product Curve and Marginal Product

curve. 5

c. State the relationships between

MP and AP

2.

30. a. The Government operates 3 distinct
functions through the budget. Identifi
and explain these functions of
Government 4

b. Briefly explain the components
of Government Budget 4
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